
Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

<T1

DANUBE
T1>

Spare parts for:

Suitable for:

This catalogue is automatically generated. 
Therefore, the sequence of the items might 
not be always shown at best.
Updates will be issued in case of additions
and/or amendments.
Suitable universal spare parts may not be included

R
e

l.
 2

0
1

3
-0

9
1

9
1

3
5
9

Ironing equipment



Suitable for: Suitable for:

<T2

Belts
T2>

<|7104895 |> BELT FOR  CA LEN DER  200x2500 m m <|7104872 |> TRAN SM ISSION BELT
for Ironing machine (DANUBE) MAXIMA1500 circumference 520 mm - width 105 mm

 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  for CALENDER DANUBE MAXIMA 1500-1900-2500-3200
  for Ironing machine (DANUBE) MAXIMA1500
  MAXIMA1900 - MAXIMA2500 - MAXIMA3200

    

DANUBE  QUINCA0069  DANUBE  QUINCA0068

<T2

Digital electronic thermostats & probes
T2>

<|3445254 |> IRO NING  M ACHIN E PROB E PT100 <| |>

cable length 1900 mm - bulb ø 6x40 mm
 for GRANDIMPIANTI IRONING MACHINE S80E-S100/18EM  
 S120/18EM-S100/25-S120/25-S140/25-S140/25AV  
 S160/30-S160/30AV-S200/30AV-S160/30AVL-S200/30AVL  
 for DOMUS IRONING MACHINE PL108-PL128  
 for FAGOR IRONING MACHINE PE18/100-PE18/120  

    

DANUBE  ELEELE0098  

<T2

Electrical gas valves and accessories
T2>

<|7104893 |> VALVE VR 4605B H ONE Y W ELL ø 1/2"F F <| |>

inlet ø 1/2" F - outlet ø 1/2" F
 maximum gas inlet pressure 60 mbar  
 room temperature 0÷70°C power 230V 50HZ  
 for CALENDER DANUBE MAXIMA 1500-1900-2500-3200  
 for Ironing machine (DANUBE) MAXIMA1500  
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELEVAN0022  

<T1

DANUBE
T1>



Suitable for: Suitable for:

<T2

Electronic boxes
T2>

<|7104868 |> IG NITION  PANEL H ONEY W ELL <| |>

mod S4570 BS1002 220V 50Hz
 for Ironing machine (DANUBE) MAXIMA1500  
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELEALL0005  

<T2

Electronic printed-circuit boards
T2>

<|7104891 |> ELEC TRON IC CIR CU IT BOARD <| |>

for Ironing machine (DANUBE) MAXIMA1500
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELEELE0089  

<T2

Heating elements
T2>

<|7104898 |> HEATING  ELEM EN T 3000W  220V <|7104900 |> HEATING  ELEM EN T 3500W  220V
"U" shaped heating element "U" shaped heating element

 overall length 1725 mm - width 65 mm  overall length 2085 mm - width 65 mm
 hole connection for M6 screw pipe ø 10 mm  hole connection for M6 screw pipe ø 10 mm
 for IRONING MACHINE DANUBE mod MAXIMA1500  for IRONING MACHINE DANUBE mod MAXIMA1900

    

DANUBE  ELERES0007  DANUBE  ELERES0008

<|7104901 |> R IG H T HEATIN G ELEM ENT 2250W  220V <|7104904 |> R IG H T HEATIN G ELEM ENT 3000W  220V
overall length 2880 mm overall length 3580 mm

 hole fixing for M6 screw pipe ø 10 mm  hole fixing for M6 screw pipe ø 10 mm
 for CALENDER DANUBE MAXIMA2500  for CALENDER DANUBE mod MAXIMA3200

    

DANUBE  ELERES0009  DANUBE  ELERES0010

<T1

DANUBE
T1>



Suitable for: Suitable for:

<T2

Pressure switches
T2>

<|7104880 |> SAFET Y G AS PR ESSU RE SW ITCH  C6065F 11752 <| |>

pressure max 0.6 mbar
 for Calender ironing machine (DANUBE) MAXIMA1900  
 MAXIMA2500 - MAXIMA3200 - MAXIMA500  

    

DANUBE  ELEDIV0202  

<T2

Rating-plates
T2>

<|7104862 |> CON TR OL PAN EL <| |>

for Ironing machine (DANUBE) MAXIMA1500
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELEELE0090  

<T2

Shock absorbers
T2>

<|3053189 |> G AS SP RIN G 170 m m <|3053080 |> G AS SP RIN G 278076 0400N
for Mangle ironing machine (DOMUS) PL108 - PL128 capacity 400 n/m

 for Mangle ironing machine (FAGOR) PE-18/100  for Mangle ironing machine (DANUBE) R25
 PE-18/120  for Mangle ironing machine (GRANDIMPIANTI) S100/25
 for Mangle ironing machine (GRANDIMPIANTI)  S120/25 - S140/25 - S140/25AV - S80/18
 S100/18EM - S120/18EM  for Mangle ironing machine (PRIMUS) IR25/100
  IR25/120 - IR25/140
  for Mangle ironing machine (WHIRLPOOL) WR1000
  WR1200 - WR1400

    

DANUBE  543010181200  DANUBE  543014005901

<T2

Sparking plugs
T2>

<|7104865 |> SPAR KING  P LU G <| |>

for IRONING MACH.DANUBE MAXIMA 1500-1900-2500-3200
 for Ironing machine (DANUBE) MAXIMA1500  
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELEALL0006  

<T1

DANUBE
T1>



Suitable for: Suitable for:

<T2

Thermostats
T2>

<|7104882 |> AD JU STIN G THER M OSTAT 150-200°C <| |>

D-shaped pin ø 6x4.6 mm
 capillary length 2900 mm  
 bulb ø 6x80 mm  
 for Ironing machine (DANUBE) MAXIMA1500  
 MAXIMA1900 - MAXIMA2500 - MAXIMA3200  

    

DANUBE  ELETHE0002  

<T1

DANUBE
T1>



The data herewith contained may change without notice and LF SpA cannot be 

held responsible for possible errors stated or resulting by the use of this document.

All rights reserved. No part of this publication may be reproduced without written 

permission by LF SpA.


	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2
	<T2

